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0 -0035
S70310
0
R0300
0.764 .04
R0030
0.828] .04
#09
.00
A=8

20250000000




0-0051

0 -0036
SZ0500 1
Y
R0300
0.764 0.017
R0O030
0.828] 0.017
#09
5.00
1
A=1
B=8 [0]
0 -0037
SZ20340 1100
(p X
R0O030
0.828] 0.10
TZ7112
W50 xt0.15 5.00
1100
1
A=3 [0] X
B=5
Cc=2 W50 xtOf 15mm

20250000000




0-0052

0 -0038
SZ0350 10
0
R0300
0.764 0.10
R0030
0.828] 0.18
10
1
A=6
B=1
0 -0039
SZ0360 1
0
R0300
0.764 0.04
R0030
0.828] 0.04
#09
1.040
1
A=6

20250000000




0-0053

0 -0040
SZ0570
0
R0300
0.764 .03
R0030
0.828] .18
A=1
B=1
0 -0041
SZ0510
0
R0300
0.764 .01
R0030
0.828] .01
#09
.00
A=6
B=1

20250000000




0-0054

0 -0042
SZ0390 1100
®
R0O030
0.828] 0.0¢9
TZ7112
W50 xt0.15 20.00
100
1
A=1 [0]
B=20
c=2 W50 xt Ol 15mm

20250000000




0-0055

0 -0043
SZA240 1100 m2
10
R0030
0.828] 0. 78
T8321
12.70Q
SZK511
0. 45
0-0021
#99
1
1100 m2
1 m2
A=1
B=1
C=10 cm
D=3
E=2 ( )

20250000000




0-0056

0 -0044
SZA240 1100 me2
As
19
R0030
0.828] 0.78
T8321
24,13
SZK511
0. 45
0-0021
#99
1
1100 m2
1 m2
A=1
B=1
C=19 cm
D=3
E=2 ( )

20250000000




0-0057

0 -0045
SZA240 1100 m2
As
10
R0030
0.828] 0. 78
T8344
12.70Q
SZK511
0. 45
0-0021
#99
1
1100 m2
1 m2
A=1
B=2
C=10 cm
D=2
E=2 ( )

20250000000




0-0058

0 -0046
SZ0300 10
0
R0300
0.764 0.10
R0030
0.828] 0.18
10
1
A=1
B=7

20250000000




0-0059

0 -0047
S70310
0
R0300
0.764 .04
R0030
0.828] .04
#09
.00
A=7

20250000000




0-0060

0 -0048
SZ0500 1
?
R0300
0.764 0.01
R0030
0.828] 0.01
#09
1.00¢(
1
A=1
B=7 0
0 -0049
SZ0340 1100
@
R0030
0.828] 0.09
TZ7112
W50 xt0.15 5.00¢0
1100
1
A=1 [0]
B=5
C=2 W50 xt 0L 15mm

20250000000




00061

0 -0050
SZA260 1 m3
5.6
m3 m3
SZK506
0. 78
0.6*1.3
0-0027
m3 - m3 +00
m3
m3
A=5.6 k m
B=2
C=3 m3 m3
D=2
E=1
F=1

20250000000




0-0062

0 -0051
S5200 100 m3
6.8
R0O030
0.828] 9.2839
100/10. 8
SK921
9.2899
100/10. 8
0-0031
#99
1
1100 m3
1 m3
A=6. 8
C=1
0 -0052
S9990 1
T9940
1.000
1
A=1

20250000000




0-0063

0 -0053
Sz1011 1
$SZ1010
1.040
0-0054
+00
1
A=5
0 -0054
S71010 1
R0300
0.764 3.00(
R0030
0.828] 3.00(
#09
20.00
1
A=2

20250000000




00064

VZ015
0-0011

075

070715

20250000000




Ad 7K

x T2 &8GR E

B
No.
X o7 = il i} 7 Ed f

T it R Bl ) =X B = 7t B = B =
INE T G Ak E @-1154% HPPE¢ 75 L=358. 58m| (358. 58m)
Bo/K B AT % T 5

Bk & A gk T

+T.(D HPPE ¢ 75 358. 58
THEHEA s W=0. 60m DP=0. 90m = 358.58 | 358.58 m




Bl K B i % L F ¥ & 3 FH &
No.
X o7 AN i 7 o7
T fi % IR i A =X B iR oV B
sIN v i By K T @117 HPPE® 75 L=358. 58m [ (358. 58m)
Bo/K B AT % T 5
Bk & A gk T
+ T
As t=15. 0cmbL T 358. 58 ) %2
L R ) BT T = 717.160 717.2 m
[LIF&BHO. 28m3 358. 58 *0. 600
SRR T (dem) As =10, OcmEl T — 215,148 | 215.1 m2
[LIF&BHO. 28m3 358. 58 *0. 600
FEA AR IR T = 215.148 215.1 m3
[LIF&BHO. 28m3 358.58 *0.198
BRI T DY IHT Y 2 = 70.998 71.0 m3
[LIF4BHO. 28m3 358. 58 *0. 222
WA R T C-40 = 79.604 79.6 m3
C-40 t=19. Ocm 358. 58 *0. 600
T AR HLIH = 215.148 215.1 m?2
M-40 t=10. Ocm 358. 58 *0. 600
AR HLIH = 215.148 215.1 m?2
BRI EAs (13) 358. 58 *0. 600
RE IR T t=4. Ocm HijH = 215.148 215.1 m?2
[LIF4BHO. 28m3
B A T 4tDT L=2. Okm BEAR AR T & [RIAR = 215.148 215.1 m3
e e 7 - TEMR T & RER = 215.148 215.1 m3
(B REMERKT) INIRT 9V 2 70.998 *1.33
M+ = 94.427 94.4 m3
(W R T) C-40 79.604 *1.27
BLAREA = 101.097 101.1 m3




TR/ N = T N D = - g -

X o7 A i
T fi R L " B & B
[LIFEBHO. 28m3 215.148 *0. 04
JE B A T As 4tDT L=6. 2km = 8.605 8.6 m3
R LB A 8.605 *2.35
PEFEALEL T = 20.221 20.2 t
1GIE R HEHS. 0t 717.160 /230%1. 80%0. 85
VEZKIEH: T EREEEE  1=6. 6km = 4.770 4.8 m3
GIWr{F ERH5 R 4.770  *1.40

PEBEALEE T. H R ALER = 6.678 6.7 t




Bl K & M i L F OB B B OE
No.
X 5y AN A
T il RN G SV ¥ & iR SV ¥ &
sIN v i By K T @117 HPPE® 75 L=358. 58m [ (358. 58m)
Bo/K B AT % T 5
Bk & A gk T
aE M
¢ 75X 5. Om 65 +8  (+804%)
AR AR ) = F Lo E F & OfEE = 73 73 A
675X 11° 1/4 7
E F %% = 7 7 @
6 75X 175 1
EFF—2X = 1 1 A
675 3
EF Y47 vk = 3 3 A
G T5X22° 1/2 1
E F § %% = 1 1 A
675 1
A7 AN P ARcIE P EfL O = 1 1 {#
BHE ¢ 300 #5-FCDHY 1
3 VR E H=625~820mm = 1 1 A
AT AT T2Fy ) ]l 1
el E A H=50 = 1 1 A
ATy )~ 1
a7 Y — FER 500 X 300 X 60H = 1 1 A
b o PTASK
RS R S — | W=150 = 358.58 358.6 m
b o—pfl FRIZE A | 358.58 /(4/5)%0. 09%3. 14%1. 5
BWRT —7 W50 X £0. 15 = 190.00 190.0 m
H 20
W~ —d— = 20 20 1A




Bl K E AR

x T2 &8GR E

No.
X o A i 5 B
T il RS 7t B =X B = 7t B =Y B =
AN PV SEE =S B-1# HPPE® 75 L=358. 58m| (358. 58m)
B /K A ik 15
Bk & A gk T
R
675 358.58  —0.78
R =F L E gk T RlAE S = 357.80 | 357.8 m
675 8 73
KY=FUVEMT L | mkBE S UF ) - 8 81 H
675 4
R F L UERET Rl B (52 30) = 4 4 (&
75 K 1
9% E T = 1 1 H
HEGVP g T = 1 &P
675 11 UPERLD
Y =T L T S S
675 2
K T LR L A B =S NARTF BEREPY. ] = 2 2 =
B IAR Y — Mgk L = 358.58 | 3568.6 m
BHRT — 7k T = 358.58 | 358.6 m
675
VEANRB A ) — 7 W BTt = 358.58 | 358.6 m
675
= = 358.58 | 368.6 m
FE K AN 358. 58 Hofrg B TR
SRR T = 358.58 | 358.6 m |




TR/ N = T N D = - g -

T gy RS 7t B =X o & iy
AN PV SEE =S B-1# HPPE® 75 L=358. 58m| (358. 58m)
Bk B Af % T35
7T
R
233 i BB 358.58 /20.00 #2.00

ZEGEE = 35.86 36 A




PYEHAEHLER No. 7
HPPE ¢ 75

b,
&BE5 YEHEAEDLE FERR | & | ERE | 89E | BEE %%%I e
g 4870 |
1 > | HPPE | 5000 | 4870 130 1
~ 3420 |
2 > | HPPE | 5000 | 3420 | 1580 1
2640 1840
3 } } HPPE | 5000 | 4480 520 2
\»ml
4 > : HPPE | 5000 640 4360 1
1140 3730
5 } } HPPE | 5000 | 4870 130 2
1630 1350
6 } | HPPE | 5000 | 2980 | 2020 2
~ 4640
7 > | HPPE | 5000 | 4640 360 1
g 4000 |
8 > | HPPE | 5000 | 4000 | 1000 1
i 8 10100 11
&




Bl K & M i L F OB B B OE
No.
X 93 AN i A

T fi % IR L " B i3 H K B
AN Y SEE = 5 @2 H7 HPPE® 75 L=93. 00m |(93. 00m)
Bo/K B AT % T 5

Bk & A gk T

+T@® HPPE 75 93. 00
THEHEA s W=0. 60m DP=0. 90m = 93.00 93.00 m




Bl K B i % L F ¥ & 3 FH &
No.
X 93 AN i A
T fi % IR L " B #FO®" K B
N D SLE = 2 @2 HPPEG® 75 L=93. 00m [(93. 00m)
Bo/K B AT % T 5
Bk & A gk T
+ T
As t=15. 0cmbL T 93. 00 ) %2
L R ) BT T = 186.000 186.0 m
[LIF&BHO. 28m3 93.00 *0. 600
SRR T (dem) As =10, OcmEl T = 55.800 55.8 m2
[LIF&BHO. 28m3 93.00 *0. 600
FEA AR IR T = 55.800 55.8 m3
[LIF&BHO. 28m3 93.00 *0.198
BRI T DY IHT Y 2 = 18.414 18.4 m3
[LIF4BHO. 28m3 93.00 *0. 222
WA R T C-40 = 20.646 20.6 m3
C-40 t=19. Ocm 93.00 *0. 600
T AR HLIH = 55.800 55.8 m?2
M-40 t=10. Ocm 93.00 *0. 600
AR HLIH = 55.800 55.8 m?2
BRI EAs (13) 93.00 *0. 600
RE IR T t=4. Ocm HijH = 55.800 55.8 m?2
[LIF4BHO. 28m3
B A T 4tDT L=2. Okm BEAR AR T & [RIAR = 55.800 55.8 m3
e e 7 - TEMR T & RER = 55.800 55.8 m3
(B REMERKT) INIRT 9V 2 18.414 *1.33
B 1 = 24.490 24.5 m3
(W R T) C-40 20. 646 *1.27
BLAREA = 26.220 26.2 m3




Bl K E AR

No.
X 93 AN i 7 B

T fi % IR L " B & iR oV B &

[LIF&BHO. 28m3 55.800 0. 04
JE B A T As 4tDT L=6. 2km = 2.232 2.2 m3

R LB A 2.232 *2.35
JE B AL T = 5.245 5.2 t

1GIE R HEHS. 0t 186. 000 /230%1. 80%0. 85
VEZKIEH: T EREEEE  1=6. 6km = 1.237 1.2 m3

GIWr{F ERH5 R 1.237  *1.40
JE B AL T H P AL = 1.731 1.7 t




Bl K B i % L F ¥ & 3 FH &
No.
X 5y AN A
T il RN R v ¥ & iR SV ¥ &
SN K @25 H HPPEG 75 L=93. 00m |(93. 00m)
Bo/K B AT % T 5
Bk & A gk T
‘& M
¢ 75X 5. 0m 17 2 (+)E)
AR AR ) = F Lo E F & OfEE = 19 19 A
675 2
EFY% vk = 2 2 A
675X 11° 1/4 1
E F s dh = 1 1 A
675 2
V7 R — g PE#L KAt = 2 2 Adl
BHE ¢ 300 #5-FCDHY 2
3 VR R E H=625~820mm = 2 2 @&
AT AT T2Fy ) ]l 2
HOF A H=50 = 2 2 A
o7y ) -}l 2
a7 Y — FER 500 X 300 X 60H = 2 2 @&
tT = 1A
EHIEEE R S — b W=150 = 93.00 93.0 m
bl EIRIERRAS [ 93.00  /(4/5)%0. 09%3. 14%1. 5
BWRT —7 W50 X £0. 15 = 49.28 49.3 m
HE 4
A~ — 1 — = 4 4 @&




Ad 7K

x T2 &8GR E

No.
X 5y L]
T il RS 7t \ o & B =
AN PV SEE =S @24 #5 HPPEG¢ 75 1.=93. 00m | (93. 00m)
Bl K& A g T3
Bk & A gk T
R
675 93. 00
RY=F L UEARRL RlAE S = 91.83 91.8 m
675 1 19
RYTF LUEMTET | BlEES (FZE) = 20 20 =
675 2
RY T LVUEMTET | EESES (W%50) = 2 2 & AT
075 Fik 2
9% E T = 2 2 X
HEGIF B T = 2 2__EiR
675 2 wERLY
K Y T L EEINT = 2 2 H
IR S — MR L = 93.00 93.0 m
BHRT — TR T = 93.00 93.0 m
675
VRl A ) — 7 B T4 = 93.00 93.0 m
675
e T = 93.00 93.0 m
Fa K AN 93. 00 Hofrg B CRE
EAKEER T = 93.00 93.0 m




TR/ N = T N D = - g -

T fi % IR i3 " K B & i
INET S K ESEE @-28%4¢ HPPE® 75 1=93. 00m [ (93. 00m)
Bk B AR A% L5
TAET
9
A2 BB 93.00 /20.00 #2.00

AIETE B = 9.30 10 A




Bl K B AT R

R

No.
X 93 AN i A

T fi % IR L " B & #FO®" K B &
UNEAE VI SER = @2 H7

Bl K& A e T 1 T

PEVE ik & T

+T® VP¢T75 2. 00
HIEHEA s W=0. 60m DP=0. 90m

= 2.00

2.00 m




Bl K E AR

x T2 &8GR E

No.
X 93 AN i 7 o7
T fi % IR AR =X B & iR oV B &
UNEAE VI SER = @2 H7
Bl K& A e T 1 T
PEVE ik & T
+ T
As t=15. 0cmbL T 2. 00 ) %2
SR = 4.000 4.0 m
[LIF&BHO. 28m3 2.00 *0.600
SEAERE I T (4em) As t=10. Ocmbh T = 1.200 1.2 m2
[LIF&BHO. 28m3 2.00 *0.600
FEA AR IR T = 1.200 1.2 m3
[LIF&BHO. 28m3 2.00 *0.198
BRI T DY IHT Y 2 = 0.39 0.4 m3
[LIF4BHO. 28m3 2.00 *0.222
WA R T C-40 = 0.444 0.4 m3
C-40 t=19. Ocm 2.00 *0.600
T AR HLIH = 1.200 1.2 m2
M-40 t=10. Ocm 2.00 *0.600
AR HLIH = 1.200 1.2 m2
BRI EAs (13) 2.00 *0.600
RE IR T t=4. Ocm HijH = 1.200 1.2 m?2
[LIF4BHO. 28m3
B A T 4tDT L=2. Okm BEAR AR T & [RIAR = 1.200 1.2 m3
e T PR A ER T L ARk = 1.200 1.2 m3
(B REMERKT) INIRT 9V 2 0.396 *1.33
B 1 = 0.526 0.5 m3
(W R T) C-40 0.444 *1.27
BLAREA = 0.56300 0.6 m3




TR/ N = T N D = - g -

No.
X o7 AN i 7 B

T fi R L " B & EI oV B &

[LIF&BHO. 28m3 1.200 0. 04
PE B A T As 4tDT L=6. 2km 0. 048 0.05 m3

R LB A 0.048 *2.35
PEFEALEL T 0.112 0.1 ¢t

1GIE R HEHS. 0t 4.000 /230%1.80%0. 85
Ve /K EHE L EREEEE  1=6. 6km 0. 026 0.03 m3

GIWr{F ERH5 R 0.026 *1.40
JE B AL T H P AL 0. 036 0.04 t




Bl K & o L F BB EE
No. 10
=S 5y A i N
T it N s H K & #Fo"m K B &
NP QIR =S @-28 4%
B 7K 8 A g T3 1 &P
e ik iE L
"M
675 1
PVZaA b oy R AR = 1 1 1A
¢ 75X 4. 00m ( 2.39 ) /4.0
HIVPW = 0.60 1 A
675 3
HITSxT/LAR = 3 3 f#




T % % &Ei R/ E
X o7
T it R e i
UNEAE VI SER = @27
Bo/K B AT % T 5
PRk E L
5 B
¢ 75
RY)2F L ERTT AT =T VET 1 1
¢ 75
A= NAFL (RREEF T BEBLRT I1) 1 1
¢ 75
HesRET 2.39 2.4
¢ 75
W EMTF T TSHET 6 6
¢ 75
e E B L 4 4
EHERIAIR > — Mgk L 2. 40 2.4
BHRT — gk T 2. 40 2.4




No. 12

UEHEAEHhER
HPPE ¢ 75
&5 vERAEDHE X | BE | ERE | A0k | BER éﬁ% i
3840
1 HPPE | 5000 | 3840 | 1160 1
2380
2 | > HPPE | 5000 | 2380 | 2620 1
& 2 3780 2
&




Bl K B i % L F ¥ & 3 FH &
No.
X o7 AN i 7 o7
T fi % IR AR =X B & EI oV B &
N B K @& H PP650 L=214. 40m| (214. 40m)
Bo/K B AT % T 5
Bk & A gk T
+T@ PP¢50 102. 50
THEHEA s W=0. 60m DP=0. 91m = 102.50 | 102.50 m
+T® PP¢50 107. 10
B F)E W=0. 60m DP=0. 94m = 107.10 | 107.10 m
+T@ PP¢50 4. 80
THEHEA s W=0. 60m DP=0. 90m = 4.80 4.80 m
214.40 | 214.40 m




Bl K & M i L F OB B B OE
No.
X o7 AN i 7 o7
T fi % IR L " B EI oV B
JIN i i 5 K @ PP650 L=214. 40m [ (214. 40m)
Bo/K B AT % T 5
Bk & A gk T
+ T
As t=15.0cmPL F | ( 102.50 +4.80 ) %2
L R ) BT T 214. 600 214.6 m
[LIF&BHO. 28m3 102. 50 *0. 600
SEAERE I T (4em) As t=10.0cmPL F |+ 4.80 *0.600 64. 380 64.4 m2
[LIF&BHO. 28m3 102.50 *0.588 +107.10 *0. 630
FEABAR S T + 4.80 *0.582 130. 536 130.5 m3
[LIF&BHO. 28m3 102.50 *0.183 +107.10 *0. 183
BRI T DY IHT Y 2 + 4.80 *0.183 39.235 39.2 m3
[LIF4BHO. 28m3 102.50 *0.228 +107.10 *0. 384
AR T C-40 + 4.80 *%0.222 65. 562 65.6 m3
C-40 t=10. Ocm 107. 10 *0. 600
B F| T WOFIE 64. 260 64.3 m?2
C-40 t=19. Ocm 102. 50 *0. 600
T AR HIE + 4.80 *0.600 64. 380 64.4 m?2
M-40 t=10. Ocm 102. 50 *0. 600
AR HIE + 4.80 *0.600 64. 380 64.4 m?2
BRI EAs (13) 102. 50 *0. 600
RS IR T t=4. Ocm HE + 4.80 *0.600 64. 380 64.4 m?2
(LiFBHO. 28m3
B A T 4tDT L=2. Okm BEAR AR T & [RIAR 130. 536 130.5 m3
e e P - TEME T & RIER 130. 536 130.5 m3
(EPRAEMHRET) INIRT 9V 2 39.235 *1.33
M+ 52. 182 52.2 m3




Bl K B i % L F ¥ & 3 FH &
No.
X 93 AN i 7 B
T fi % IR AR =X B & iR oV B &
(WA R T) C-40 65.562 x1.27
ULAEA = 83.263 83.3 m3
[LIF&BHO. 28m3 64.380 *0.04
PE BE R T As 4tDT L=5. 6km = 2.575 2.6 m3
R LB A s 2.575 *2.35
PEFEALEL T = 6.051 6.1 t
1GIE R HEHS. 0t 214. 600 /230%1. 80%0. 85
VEZKIEHE T EREEEE  1=6. Skm = 1.427 1.4 m3
TIWr{F ERH5R 1.427  *1.40
JE B AL T H P AL = 1.997 2.0 t




Bl K B i % L F ¥ & 3 FH &
No.
X 93 AN A
T il RN R v ¥ & iR SV ¥ &
JIN i i 5 K @ PP650 L=214. 40m [ (214. 40m)
Bo/K B AT % T 5
Bk & A gk T
‘& M
¢ 50 1FE2EE 214. 40
FY T L = 214.40 214.4 m
¢ 50 5
SKX Y%7 v b P X P = 5 5 A
$50X22° 1/2 2
SKXxT/LAR PXP = 2 2 @&
¢ 50X 45° 1
SKX=T/LAR PXP = 1 1 A
¢ 50X 90° 1
SKXxT/LA PXP = 1 1 A
50 PPXVP 1
Y 7 k= AL A Jy B % = 1 1
BHE ¢ 300 #5-FCDHY 1
3 VR E H=625~820mm = 1 1 A
AT AT T2Fy ) ]l 1
el E A H=50 = 1 1 A
o7y ) -}l 1
a7 Y — FER 500 X 300 X 60H = 1 1 A
b o PTASK
BRI — b W=150 = 214.40 214.4 m
b FIRIZE AT | 214.40 /(4/5) %0. 06%3. 14%1. 5
BWRT —7 W50 X £0. 15 = 75.74 75.7 m
H 15
W~ — 71— = 15 15




il

x T2 &8GR E

No.
X o7 AN i 7 o1
T it R AR =X B EI oV B
AN PV SEE =S @A PP¢50 L=214. 40m| (214. 40m)
Bl K& A g T3
Bk & A gk T
5 B
¢ 50 214. 40 -0. 051
RYZF LBk T = 214.35 | 214.3 m
¢ 50 18
RY2F LU EHFET = 18 18 M
$50 A7) 1
HEOV R T ERALT = L&
fEUIFERA L = 1 1 & I
¢ 50 5
RY =T L BT = 5 5 M
B IAR Y — Mgk L = 214.40 | 214.4 m
BHRT — gk T = 214.40 | 214.4 m
¢ 50
VEHIRBE A Y — 7 e B T3k = 214.40 | 214.4 m
FA7K BN 214. 40 g BRI TR I
EAKEER T = 214.40 | 214.4 m




Bl K & M % L F ¥ & 2 B &
No.
X 4y T R
T il RS 7t B =X o & 7t B = o &
AN PV SEE =S @R PP¢50 L=214. 40m| (214. 40m)
Bk B Af % T35
7T
R
233 i BB 214.40 /20.00 *2.00
ZIEihE B = 21.44 22 A




TR/ N = T N D = - g -

X 93 A i
T fi % IR L " B & 5
UNEAE VI SER = DR
Bl K& A e T 1 T
PEVE ik & T
+TD VP¢50 0. 90
HIEHEA s W=0. 60m DP=0. 92m = 0.90 0.90 m
+T® VP¢50 2.75

INTEA T W=0. 60m DP=0. 99m = 2.75 2.75 m




Ad 7K

x T2 &8GR E

B
No.
X 93 AN i 7 B
T fi % IR AR =X B & EI oV B &
UNEAE VI SER = DR
Bl K& A e T 1 T
PRk E L
+ T
As t=15. 0cmbL T 0. 90 ) %2
SR = . 800 1.8 m
[LIF&BHO. 28m3 0.90 *0.600
SHEERREUE T (4em) As t=10. 0cmPL T = . 540 0.5 m?2
[LIF&BHO. 28m3 0.90 *0.594 +2.75 *0.660
FEA AR IR T = . 349 2.3 m3
[LIF&BHO. 28m3 0.90 *0.183 +2.75 *0.183
BRI T DY IHT Y 2 = . 667 0.7 m3
[LIF4BHO. 28m3 0.90 *0.234
W R T, C-40 = .210 0.2 m3
[LIF4BHO. 28m3 2.75 *0.474
MR T FEA T = .303 1.3 m3
C-40 t=19. Ocm 0.90 *0.600
T AR HLIE = . 540 0.5 m2
M-40 t=10. Ocm 0.90 *0.600
AR HLIE = . 540 0.5 m2
BRI EAs (13) 0.90 *0.600
REIH T t=4. Ocm B = . 540 0.5 m2
(LiFBHO. 28m3 0.90 *0.594 +2.75 *0.133
B A T 4tDT L=2. Okm = . 900 0.9 m3
e T FR A ER T L ARk = . 900 0.9 m3
(EPRAEMHRET) INIRT 9V 2 0.667 *1.33
B 1 = . 887 0.9 m3
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(WA R T) C-40 0.210 *1.27
GIAEA = 0.266 0.3 m3
[LIF&BHO. 28m3 0.540 *0.04
PE BE R T As 4tDT L=5. 6km = 0.021 0.02 m3
R LB A s 0.021 *2.35
PEFEALEL T = 0.049 0.05 t
1GIE R HEHS. 0t 1.800 /230%1.80%0. 85
Ve /K E L EREEEE  1=6. Skm = 0.011 0.01 m3
DI EZE RS R 0.011 *1.40
JE B AL T H P AL = 0.015 0.02 t
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¢ 50 4.46
e EAMRT = 4.46 4.5 m
¢ 50 7
W EMTF T TSHET = 7 7 |
¢ 50 4
e E O T = 4 4 |
BERIAR Y — MR L = 4.50 4.5 m

BHRT — 7 gk L = 4. 50 4.5 m
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0% | &% | £#%Y | BuRL R¥E RER R |RAER| LERE| TREERE| %t R8I0 | #EHIE | EAER | EHIE | 592 | REMH| URH | REIH | LEREH TRREH S5k | SEE |RERE
Poh7yva C-40 M-40 C-40
m m m3 m3 m3 m3 m m m3 m m m m m m m m m m m m m
75 HPPE, VH 0.90 0. 600 0. 600 0.198 0. 000 0.222 0. 600 0. 600 0. 600 0. 600 0.60 1.04 1.00 0.09 0.34 0.37 0.10 0.19 0. 006 0.04 0.04|® - HiE
75| HPPE 0.91 0. 600 0. 606 0.198 0. 000 0.228 0. 600 0. 600 0. 606 0. 600 0. 60 1.05 1.01 0.09 0.34 0.38 0.10 0.19 0. 006 0.04 0.04(®-2
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